This report contains the transfers results.

Contest Name

Ward 5 - Haddington and Lammermuir

Valid Votes
Positions to be Filled
Quota

7,830 4 1,567

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Shamin AKHTAR	Scottish Labour Party	1,625
David BARRETT	Independent	118
Stuart CRAWFORD	Scottish Liberal Democrats	432
Morgwn DAVIES	Alba Party for Independence	85
Graeme MACGREGOR	Scottish National Party (SNP)	944
George MCGUIRE	Scottish Conservative and Unionist	1,714
John MCMILLAN	Scottish Labour Party	1,228
Jackie SWAILES	Scottish Greens - Think Global Act Local	577
Tom TROTTER	Scottish National Party (SNP)	1,107
	Total	7,830

Candidate Shamin AKHTAR Elected with 1,625 votes, being in excess of the quota of 1,567 Candidate George MCGUIRE Elected with 1,714 votes, being in excess of the quota of 1,567

This report contains the transfers results.

Stage 2 - Surplus of George MCGUIRE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BARRETT	171	0.08576	14.66496
Transfer to Stuart CRAWFORD	442	0.08576	37.90592
Transfer to Graeme MACGREGOR	20	0.08576	1.71520
Transfer to John MCMILLAN	504	0.08576	43.22304
Transfer to Jackie SWAILES	46	0.08576	3.94496
Transfer to Tom TROTTER	24	0.08576	2.05824
No further preference	499	0.08576	42.79424
Not transferred due to rounding			0.00736
	Total		147.00000

This report contains the transfers results.

Stage 3 - Surplus of Shamin AKHTAR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BARRETT	45	0.03569	1.60605
Transfer to Stuart CRAWFORD	128	0.03569	4.56832
Transfer to Graeme MACGREGOR	105	0.03569	3.74745
Transfer to John MCMILLAN	1,105	0.03569	39.43745
Transfer to Jackie SWAILES	96	0.03569	3.42624
Transfer to Tom TROTTER	41	0.03569	1.46329
No further preference	100	0.03569	3.56900
Not transferred due to rounding			0.00375
	Total		58.00000

This report contains the transfers results.

Stage 4 - Exclusion of Morgwn DAVIES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BARRETT	14	1.00000	14.00000
Transfer to Stuart CRAWFORD	4	1.00000	4.00000
Transfer to Graeme MACGREGOR	21	1.00000	21.00000
Transfer to John MCMILLAN	9	1.00000	9.00000
Transfer to Jackie SWAILES	7	1.00000	7.00000
Transfer to Tom TROTTER	14	1.00000	14.00000
Transfer to David BARRETT	2	0.08576	0.17152
Transfer to Stuart CRAWFORD	3	0.08576	0.25728
Transfer to John MCMILLAN	1	0.08576	0.08576
Transfer to Jackie SWAILES	1	0.08576	0.08576
Transfer to John MCMILLAN	3	0.03569	0.10707
Transfer to Jackie SWAILES	1	0.03569	0.03569
No further preference	16	1.00000	16.00000
No further preference	1	0.08576	0.08576
No further preference	1	0.03569	0.03569
Not transferred due to rounding			0.00000
	Total		85.86453

This report contains the transfers results.

Stage 5 - Exclusion of David BARRETT

148.44253

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stuart CRAWFORD	50	1.00000	50.00000
Transfer to Graeme MACGREGOR	12	1.00000	12.00000
Transfer to John MCMILLAN	21	1.00000	21.00000
Transfer to Jackie SWAILES	17	1.00000	17.00000
Transfer to Tom TROTTER	7	1.00000	7.00000
Transfer to Stuart CRAWFORD	50	0.08576	4.28800
Transfer to John MCMILLAN	36	0.08576	3.08736
Transfer to Jackie SWAILES	8	0.08576	0.68608
Transfer to Tom TROTTER	2	0.08576	0.17152
Transfer to Stuart CRAWFORD	11	0.03569	0.39259
Transfer to Graeme MACGREGOR	1	0.03569	0.03569
Transfer to John MCMILLAN	19	0.03569	0.67811
Transfer to Jackie SWAILES	3	0.03569	0.10707
Transfer to Tom TROTTER	1	0.03569	0.03569
No further preference	25	1.00000	25.00000
No further preference	77	0.08576	6.60352
No further preference	10	0.03569	0.35690
Not transferred due to rounding			0.00000
	Tetal		4.40, 4.4050

Total 148.44253

This report contains the transfers results.

Stage 6 - Exclusion of Stuart CRAWFORD

533.41211

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graeme MACGREGOR	20	1.00000	20.00000
Transfer to John MCMILLAN	180	1.00000	180.00000
Transfer to Jackie SWAILES	111	1.00000	111.00000
Transfer to Tom TROTTER	16	1.00000	16.00000
Transfer to Graeme MACGREGOR	2	0.08576	0.17152
Transfer to John MCMILLAN	181	0.08576	15.52256
Transfer to Jackie SWAILES	50	0.08576	4.28800
Transfer to Tom TROTTER	12	0.08576	1.02912
Transfer to Graeme MACGREGOR	20	0.03569	0.71380
Transfer to John MCMILLAN	66	0.03569	2.35554
Transfer to Jackie SWAILES	12	0.03569	0.42828
Transfer to Tom TROTTER	3	0.03569	0.10707
No further preference	159	1.00000	159.00000
No further preference	250	0.08576	21.44000
No further preference	38	0.03569	1.35622
Not transferred due to rounding			0.00000
	Total		533.41211

Report Name: Transfers_V0001_Ward-5---Haddington-and-Lammermuir_06052022_153914.pdf Created: 06-5-2022 15:39:14

This report contains the transfers results.

Stage 7 - Exclusion of Jackie SWAILES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graeme MACGREGOR	150	1.00000	150.00000
Transfer to John MCMILLAN	169	1.00000	169.00000
Transfer to Tom TROTTER	201	1.00000	201.00000
Transfer to Graeme MACGREGOR	6	0.08576	0.51456
Transfer to John MCMILLAN	11	0.08576	0.94336
Transfer to Tom TROTTER	7	0.08576	0.60032
Transfer to Graeme MACGREGOR	10	0.03569	0.35690
Transfer to John MCMILLAN	44	0.03569	1.57036
Transfer to Tom TROTTER	17	0.03569	0.60673
No further preference	192	1.00000	192.00000
No further preference	81	0.08576	6.94656
No further preference	41	0.03569	1.46329
Not transferred due to rounding			0.00000
	Total		725.00208

This report contains the transfers results.

Stage 8 - Surplus of John MCMILLAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Graeme MACGREGOR	154	0.08576	13.20704
Transfer to Tom TROTTER	307	0.08576	26.32832
Transfer to Graeme MACGREGOR	49	0.00735	0.36015
Transfer to Tom TROTTER	31	0.00735	0.22785
Transfer to Graeme MACGREGOR	124	0.00306	0.37944
Transfer to Tom TROTTER	137	0.00306	0.41922
No further preference	1,146	0.08576	98.28096
No further preference	653	0.00735	4.79955
No further preference	976	0.00306	2.98656
Not transferred due to rounding			0.02152
	Total		147.01061

This report contains the transfers results.

Stage 9 - Exclusion of Graeme MACGREGOR

1,168.20175

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tom TROTTER	958	1.00000	958.00000
Transfer to Tom TROTTER	131	0.08576	11.23456
Transfer to Tom TROTTER	74	0.03569	2.64106
Transfer to Tom TROTTER	45	0.00735	0.33075
Transfer to Tom TROTTER	94	0.00306	0.28764
No further preference	189	1.00000	189.00000
No further preference	51	0.08576	4.37376
No further preference	62	0.03569	2.21278
No further preference	4	0.00735	0.02940
No further preference	30	0.00306	0.09180
Not transferred due to rounding			0.00000
	Total		1,168.20175

Report Name: Transfers_V0001_Ward-5---Haddington-and-Lammermuir_06052022_153914.pdf Created: 06-5-2022 15:39:14